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CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY (HINGLISH)

CARBOXYLIC ACID AND THEIR DERIVATIVES

1. Identify C in the following sequence of reaction:

‘COzﬂ

nll/ CH3

OH
(a) a
CH,4
CN
(b)
/CH,

A

B.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mgEMZmq3stAb

CN
(c)
CH,
CN
(d)
CH,

D.

C.

Answer: B

o Watch Video Solution

2. Saponification (basic hydrolysis) of Cs H; COC H3 will yield:
|
(0]

[0 = mass -18 isotope of oxygen]

O
'

A C¢H; —C — 0~ + HO)CH;
O

||
B.C¢Hs; — C — O~ + HOCH;
C.C¢HsCO™ + HO~

D.C3H;CO~ + HOCH,

Answer: B


https://dl.doubtnut.com/l/_mgEMZmq3stAb
https://dl.doubtnut.com/l/_xKJ58cKcucJ9

° Watch Video Solution

MeZNH (X)
0°C, 2h 86 89% (yield):
(3 equivalent)

Product (X) of the reaction is:

NMCZ
NMe2

I

- NMC2
O/:Mcz
@ (j

Answer: A



https://dl.doubtnut.com/l/_xKJ58cKcucJ9
https://dl.doubtnut.com/l/_QiGIjEdk0ou7

l ° Watch Video Solution

4. Which of the following is the correct order of decarboxylation of B-keto

carboxylate anion?

o, 0O 0 O O O O
R-C /I\U/O RM g R o RM G
F cl NO, CN

Aa>b>c>d

B.e>d>a>b

Ce>d>b>a

D.d >c>a>b

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QiGIjEdk0ou7
https://dl.doubtnut.com/l/_bTPEhg3Xz1VO

5. Complete the following

O

o
Il Il
CIC Ccl

+ CHy; — NH, ——— Product of the reaction is :

(A)

(@ Ofé §§
(®) Ho~ E \i ~C

O
NH
(© l
NH
O
(0}

Answer: A

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_RZfrmQCknB5r
https://dl.doubtnut.com/l/_Rz2MeInfy7tp

6. Which (-keto acid shown will not undergo decarboxylation?
0

0,H

CO,H
0

A.

(b)

0]
|l
C.Ph—-C—-CHy —COH
0]

'
D.CH; — C — CHy; — COoH

Answer: B

o Watch Video Solution

7. Choose the response that matches the correct functional group

classification with the following group of structural formulas.


https://dl.doubtnut.com/l/_Rz2MeInfy7tp
https://dl.doubtnut.com/l/_gMRrCgjTQjLG

A. Anhydride Lactam Lactone

B. Lactam Imide Lactone

C. Imide Lactone Anhydride

D. Imide Lactam Lactone

Answer: D

° Watch Video Solution

OH
COH ) E-LiG-eq) ,  (p) ; Product (P) of the reaction s :
8 (2) H*,H,0 (65% yield)

of the reaction is:

Product (P)

Et
(a) Et


https://dl.doubtnut.com/l/_gMRrCgjTQjLG
https://dl.doubtnut.com/l/_wTZqVHEbfeQy

Et
b)
B.
OFEt
OH
(©) Bt Et
C.
OFt
OH
o) B
Et
D.
Answer: B

° Watch Video Solution

Y\ N
> + H-0
OH = e 1,50, X) 2
OH 89-91% yield

9. (Lactic acid)

Product (X) of the reaction is:


https://dl.doubtnut.com/l/_wTZqVHEbfeQy
https://dl.doubtnut.com/l/_mwGMfaKQaGRF

A.
0O
®) 0/\/
B OH
o
(©) Y\o/\
C. OH
(0]
@ W
D. OH
Answer: B

o Watch Video Solution

MeO_  OMe

Et0,C COEC MO, (4) |, Product (A) obtained
10. Product

(A) obtained is:


https://dl.doubtnut.com/l/_mwGMfaKQaGRF
https://dl.doubtnut.com/l/_DSqlykC4GfPv

(0]
0
[a)
() 8)
0
CO,Et
(c)
C.
0
COo,H
(d)
D.

Answer: B

A
B.

° Watch Video Solution



https://dl.doubtnut.com/l/_DSqlykC4GfPv

11. Which of the following acid on heating gives geometrical isomers as a
product?

OH
|
A.CH; — CH — CO,H

CO,H

B. cl

C.CH; — C|H — CH, — COoH
OH

D. All of these

Answer: D

o Watch Video Solution

Pl MeNH .
0 —MeOH , 4 2 5B 2_5C ; Product (C) of the reaction is :

12. Y



https://dl.doubtnut.com/l/_ZmL04LvHhx39
https://dl.doubtnut.com/l/_mzOijKv9tDPZ

Answer: B

o Watch Video Solution

0
0 —UAHy 4 PCC g NHy-NHy
13. 0o
0
NH
(a)
NH

C , Product (C) is



https://dl.doubtnut.com/l/_mzOijKv9tDPZ
https://dl.doubtnut.com/l/_ib8NyRlZixo9

B.
H
=N
@) /I\IJ
H
C. ©

Answer: B

° Watch Video Solution

HCl

aq KOH

>C. Product (C) is



https://dl.doubtnut.com/l/_ib8NyRlZixo9
https://dl.doubtnut.com/l/_FrxPwuzdrttE

(c)

C.
(0]
(d) /\
CHj3 CH,
D.
Answer: A

° Watch Video Solution

O  +R-CH,-NH, 2% , (4
THE  (719)

15. ©

In above reaction identify major product (A) of the reaction:

(a)
N-CH,-R


https://dl.doubtnut.com/l/_FrxPwuzdrttE
https://dl.doubtnut.com/l/_a2oWF60plQta

(b) H

N-CH,-R
B. 0o
© NH - R
0}
C 0]
(d) H
-R
D 0]

Answer: B

o Watch Video Solution

16. An optically active compound 'X' having molecular formula Cy;HgOs5 . It
evolves COy with NaHCOs . 'X' on reaction with LiAlH, gives achiral

compound. X' is:

A.CH3;CH,CHCOOH

|
OH


https://dl.doubtnut.com/l/_a2oWF60plQta
https://dl.doubtnut.com/l/_qMJekwfxWB54

B. CH; C’lHCOOH

Me
CH;CHCOOH
C. |
CH,OH

D.CHj3 — C]HCHzCOOH

OH

Answer: C

° Watch Video Solution

o

||
17.CH; —C — O —CHy — CH; + H— 0~ — (0 = O'®) One of the

product of the reaction is:

° Watch Video Solution

18. Identify final product in the following reaction,

CHyCHOOOH 2, Product

OH


https://dl.doubtnut.com/l/_qMJekwfxWB54
https://dl.doubtnut.com/l/_zCWu8F1a7tpD
https://dl.doubtnut.com/l/_WDX8Uyo4GY5V

A H-C o~ YO

B.CH, = CHCO,H

(0]
|
C.CH; — CCO,H

D. CH;CH,OH

Answer: A

o Watch Video Solution

19. Select the final product from this sequence of reactions. Acetoacetic

NaOEt CHsI NaOFEt CH;CH,CH,Br
ester > > > >

O CH3

T
a HC = C— C — COOC,H;

CH>,CH>CHj
CHs3

|
8. HsC — C — CH,000C, Hs

CH,CH>CHjs


https://dl.doubtnut.com/l/_WDX8Uyo4GY5V
https://dl.doubtnut.com/l/_VWbyLIAuKV9c

H

|
c. HsC — |C’ — CH,COOC,Hj

CH,CH,CH,
CH;
|

D.CH;CO — C — CH,COOC,H
|
CH;

Answer: A

o Watch Video Solution

EC  CO,CH, - CH,

O Hzo, H2504
heat

(A) ; Product (A) will be :

C
20. O2Et

0]

‘ CO,H
(a)
A.

0]

(b)


https://dl.doubtnut.com/l/_VWbyLIAuKV9c
https://dl.doubtnut.com/l/_ncAdhFENCiO4

@)
O

(d)

D

Answer: B

o Watch Video Solution

(1) Na
21. CH2(002M6)2 + ? (—)———) CH(COQM6)3
i1) AcOH

Which of the following reactants will complete the above reaction?

A. CH2(002M€)2
B. (COQMG)Z
C.Cl — COyMe

D. COCl,


https://dl.doubtnut.com/l/_ncAdhFENCiO4
https://dl.doubtnut.com/l/_vlc17ShRPJ34

Answer: C

° Watch Video Solution

22. Arrange the following in order of increasing reactivity (least —

most) towards nucleophile

o o o

| || ||
CH3;COCH,CH; CH3CCl CH3CNHCHj;
1 2 3

Al<2<3
B.3<1<2
Cl<3<2

D.2<1<3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vlc17ShRPJ34
https://dl.doubtnut.com/l/_rYf2GvOF8hYu

23. Choose the best sequence of reactions for transformation given.
Semicolons indicate separate reaction steps to be used in the order

shown.

0
Il
H,C ‘Q—COZCH3 —? 5 HyC —QC—NH—CH3

A.H;07, SOCl,, CH3N H,
B.HO™ /HzO, PBT’3, Mg, COQ, HgO_, SOClz, CHgNH2
C. LiAlH,, H,O, HBr, Mg, CO,, H;O™", SOCl,, CH;N H,

D. None of these would yield the desired product

Answer: A

° Watch Video Solution

24. A key step in the hydrplysis of acetamide in aqueous acid proceeds by

nucleophilic addition of:


https://dl.doubtnut.com/l/_CZIcFmCK4yvm
https://dl.doubtnut.com/l/_vknYiRlkT6Y6

o
A H;07 to CH3‘(J|’NH2
+OH
B. H,O to CHj; |C|Y NH>
+OH
C. H;0™" to CH; |C‘* NH,
+OH

||
DHO_ to CH3 C NH2

Answer: B

o Watch Video Solution

25. Which reaction is not possible for acetic anhydride?

(@) o

N '
CH3;C | O+ 2HN(CH3)2 — CHgCN(CH3)2 + CHgCOE,)_ + Hy

2

(@) (@)

| |
CH?,C O + CHgCHQOH — CH3000H2CH3 + CHgCOzH

2


https://dl.doubtnut.com/l/_vknYiRlkT6Y6
https://dl.doubtnut.com/l/_OUtVENdGa1Wd

(0] (0]
| \\ AICT ||
CH?,C O + CﬁHﬁ —_— CHgCCI —+ CHgCOzH

/s

(@) (@)

|
CHsC | O + NaCI — CH3CCI + CH3CO, Na™

/s

Answer: D

o Watch Video Solution

26. All but one of the following compounds react with aniline to give

acetanilide. Which one does not?

(l)‘ )
Aniline Acetanilide
0]
[
A.CH3C — CI

0O o
g ® H3C/lKO)J\CH3


https://dl.doubtnut.com/l/_OUtVENdGa1Wd
https://dl.doubtnut.com/l/_Kyk6q5b6WhX9

o

I
C.CH,C — H

i
D.

Answer: C

° Watch Video Solution

27. Which of the following best describes the nucleophilic addition step in

the acid-catalyzed hydrolysis of acetonitrile (CH3CN)?

(a) H3C—Cg?\1‘:
H/Q:
A.
vt
(b) HsC-C=N-H
O
B I_I/..


https://dl.doubtnut.com/l/_Kyk6q5b6WhX9
https://dl.doubtnut.com/l/_02IIJ6PbwRLC

(d) H3C-CQ§-H

N
::/

Answer: D

° Watch Video Solution

28. The major product expected, when Phthalamide is treated with

NaOH,is

(© Na


https://dl.doubtnut.com/l/_02IIJ6PbwRLC
https://dl.doubtnut.com/l/_tLi6Odo5Xc35

Answer: C

° Watch Video Solution

29. Which of the following acid remains unaffected on heating ?

A. malonic acid

B. maleic acid

C. Fumaric acid

D. Succinic acid

Answer: C

° Watch Video Solution

30, P N \pr +CH 2(CO,Er), —3o— cyclic product

At which value of n the formation of six membered ring takes place?


https://dl.doubtnut.com/l/_tLi6Odo5Xc35
https://dl.doubtnut.com/l/_aT2tnlyw1KD4
https://dl.doubtnut.com/l/_FemgGnGEm8oe

B.n=3

Cn=>5

D.n =6
Answer: B

o Watch Video Solution

31. Complete the following

CH,OH
(a) <
CH,0H

9)
N-O—‘“—'{*“f‘"—’»mamemu:
o

reaction


https://dl.doubtnut.com/l/_FemgGnGEm8oe
https://dl.doubtnut.com/l/_19g6PRyKwZsv

NH,

(b)

O

0 T

D. OH

Answer: C

o Watch Video Solution

32. Complete the following

co,H

CO,H o8, >, Product of the reaction is :
(o, L0
O,H

A. cis-anhydride

B. trans-anhydride

reaction


https://dl.doubtnut.com/l/_19g6PRyKwZsv
https://dl.doubtnut.com/l/_DFXHDOwyTT75

C. both (a) & (b)

D. mono-basic acid

Answer: A

o Watch Video Solution

CO,H
(i) EXOH, KO

(i)
(i) H* /A

» (A)

33.

Product (A) of the reaction is:

CH4 \@_Jcozﬂt
H
A. E
B.

0
]
(c) - CHy
C. o


https://dl.doubtnut.com/l/_DFXHDOwyTT75
https://dl.doubtnut.com/l/_AfsXrfvWLZwQ

(6}
i

C-CHy
@ @@'{3

OH

Answer: A

° Watch Video Solution

‘C’Hz — 0 —-COR

34. CH — O — CORy + 3NaOH — (A) + salt of fetty acid(soap)
\

CH; — O — COR3

Product (A) of the reaction is:

A. Ethylene glycol
B. Glycerol
C. Glycceryltrinitrate (explosive)

D. Cumene hydrogen peroxide

Answer: B

| o Wik L\ dana Ol iklmn


https://dl.doubtnut.com/l/_AfsXrfvWLZwQ
https://dl.doubtnut.com/l/_h5OU4SS2iYN3

L ¥Yvdalilll VIUCV JViuLivii

HO-
35.CH; — CH — OAc —  Product of the reaction is:
| (d=dextro rotatory)
Bt
(d)
Bt
|
A.CHs — CH — OH
(d)

B.CH3 — C’|H — OH

Bt
(1)

C.CH; — C]H — OH

Bt
(d) & (1)

D.CHjz — |C = CH,

CH;

Answer: A

° Watch Video Solution

. t ) SO,
Ph-CHz(.H«C»-O~H—W (A) ; Product (A) of the reaction is

36. Product

(A) of the reaction is:


https://dl.doubtnut.com/l/_h5OU4SS2iYN3
https://dl.doubtnut.com/l/_05Rvox9gnY3r
https://dl.doubtnut.com/l/_CDp7JJXu0ko1

o
@ n-a«-a;-c'-f-ai,-m—-q
A

0
B (b) Ph-CH -cu—g-nu-—Q

o

||
CPh—-CH=CH-C-H

Ph - CH = CH - NH _4
D.

Answer: B

° Watch Video Solution

ﬁ o
Ph-C-Cl + [j — (A)
]T (Major)

H

(Morpholine)
37.
the product (A).
0 e
(a) Ph (l:, o) N-H
a -C- —
N
) ~C—
Ph-C-N 0

U
I 0
() Ph-C-N
c )

; Identify the product (A).

Identify


https://dl.doubtnut.com/l/_CDp7JJXu0ko1
https://dl.doubtnut.com/l/_mxiJEKoSMSQB

I
D.Ph — C — NH,

Answer: B

° Watch Video Solution

|

OMe OH . . 0]
AN NS L HG /\/ NN eont
Above reaction is an example of:
A. Esterification
B. Saponification

C. Hydrolysis

D. Trans Esterification

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mxiJEKoSMSQB
https://dl.doubtnut.com/l/_Re9zZUkjS8HS

39. Which of the following is an intermediate formed in the reaction

shown below

o

||
CH; — C — CI + NH; — Intermediate — product.

A.CH; — ]G\B/'Hg
o
5.0H, — 0o
OH
C.CI — |C —CI
v
o-
D.CHs — |C’ - CI
v
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KEwvX0JVKx26

o) R
NaOH, H
RYO ﬁ(R - 29, pProduct
100°C
o 0 (several hours)

40.

Product is obtained in the above reaction is:

A.R — CO3sNa
OH
(h) /\l
B. OH OH

C.Both (a) and (b)

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EykNcaUGRh8L

41. The reaction of sodium with acetyl chloride proceeds through which

of the following

A (8) CHy-C /—\‘ I

+ CHy-C-dl ,

0
| -

1 CHy-C- O TNCH C
3~ Cl
B. A

o O)
- I

(c) CH;-C-0, + CHz-C-Cl

0
-
D CH;-C- 0\/_‘0 - CHjy

Answer: C

o Watch Video Solution

42. Which of the major product of the following reaction?
o

| H,S
CH; — C — CI — product

OH

|
ACH; — C — CI
|

SH


https://dl.doubtnut.com/l/_IbrigbKkJQag
https://dl.doubtnut.com/l/_pUpZM5biU71S

O
B.Cﬂg—g'—SH

S
C.CH3—|C|'—C'I

O 0]

| I
D.CH; —-C —S—-C —CHj;

Answer: B

o Watch Video Solution

43. Which is the major product of the following reaction?

O

O +CH; - NH, - product

0)

(8) N - CH3


https://dl.doubtnut.com/l/_pUpZM5biU71S
https://dl.doubtnut.com/l/_j26lmwh2cdMc

N - CH,

(b) 0

(0] O
' '
CHO-C—-CHy —-CHy; —C — NH — CH;
o O

' [
D.CH; - NH - C —-CHy —CHy; — C — NH — CH;

Answer: C

o Watch Video Solution

44. Ethanoic acid + 3-methyl-1-butanol <= (A), Compound (A) is:

traces
H,S0,

@ /o\ A
A. o

w A~
B.

0
C. " )\0/\/\


https://dl.doubtnut.com/l/_j26lmwh2cdMc
https://dl.doubtnut.com/l/_0gomvMuwJsjh

(0]
@ N
D.

Answer: B

o Watch Video Solution

45, Complete the following reaction
O
I
‘S
@ /) PCl e 5(A) LIAIH +(B) PCC ¥(C)'~!-lo—_—‘)(D]
C
I
(0]

CH, - OH
(a) @ _
A CO,

oo
B.
CH, - OH
(c) @c
. H, - OH

»


https://dl.doubtnut.com/l/_0gomvMuwJsjh
https://dl.doubtnut.com/l/_S85rqCz3VB3N

Answer: A

° Watch Video Solution

46. Which of the following compounds will undergo decarboxlation on

heating?
) 0 O,H 0,H
f é/cozcn3 0 COH
(0]
1 2 3 4

A.2 and 3
B.3and 4
C.3only

D.1and 4

Answer: C



https://dl.doubtnut.com/l/_S85rqCz3VB3N
https://dl.doubtnut.com/l/_wV0l9GXaaNVo

I ° Watch Video Solution

47. Which one of the following is not an intermediate in the generally

accepted mechanism for the reaction shown below?

o o

|| H,S0, ||
CF;COH + CH3C‘HCH3 — CF3COC|H — CHs + H>0
OH CH;

vom

A.CF; g’ — OH
.OH -

B.CFj o ~ OCH(CHy),
:OH
o

C.CF; o CCH(CHj),
.+ OH,
o

D. CFj o CCH(CH;),

:OH

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wV0l9GXaaNVo
https://dl.doubtnut.com/l/_psSA15FOxUtp

3eq.EtOH

RO C02H dry HCl gas
(major product);
48. '
(a) RO CO,R
A.

, ® RO/\CQZEt

C. (¢) EtO CO,Et

DDR—O—-C—-0—Et

Answer: B

> (A); Product A is:

o Watch Video Solution

49. |dentify the compound C in the following sequence:

HCI, H,0

(CH3),CHCH,C = N ——— compound A

PCC
—— compound C
CH,CI,

2.H,0

1.LiAIH,
e

compound B


https://dl.doubtnut.com/l/_EEHDWijalXCf
https://dl.doubtnut.com/l/_SQFOHQnAinIe

o
A (ClLI?,)ZCJLIg’CH3
o
B. (CH?,)ZCHC'HQHOH
o
C. (CHg)ZCHC’Hzg'H
o

I
D. (CH,),CHCCH,OH

Answer: C

o Watch Video Solution

50. What is the final product (B) of this sequence?

CHj
}'31’2 s A 1. KCN N
light 2. H30", heat
CH,
CO,H
% 2

(a)
A.


https://dl.doubtnut.com/l/_SQFOHQnAinIe
https://dl.doubtnut.com/l/_JDrq4ij76xh4

CO,H

(b)

B.
CH,
()
CO,H
C. :
CH,CO -H

(d)

D..
Answer: D

° Watch Video Solution

51. Which of the following undergoes decarboxylation most readily on

being heated?

0
(a)
OH

A O


https://dl.doubtnut.com/l/_JDrq4ij76xh4
https://dl.doubtnut.com/l/_ibANUPL3C0wj

B. s

O
(d
O

C. HO

Answer: D

o Watch Video Solution

52. What is compound Z?

NaCN H;0*
\

CH3;CH>CH>Br s X s Y

CH,CH,OH
\
7

heat
O

|
A.CH3CH = CHCOH

H+

B.CH3;CHsCH,CH = NOCHy;CHj3

C. CH3CHQCHQCH(OCHQCH3)2

0
||

p. CH;CH,CH,COCH,CH;

Answer: D

| o WMl L\ dan C Al ikl n



https://dl.doubtnut.com/l/_ibANUPL3C0wj
https://dl.doubtnut.com/l/_NVmIhfQVauJy

| & __ryvalllil VIUCU JViutuiviil

53. CH; — CH = CH — CH, — CO,H - (X) (major), Producy (X)
is:
A.CH; — CH = CH — CH;3

B.CH; — C = CH,
|
CH3

C.CHs — CH; — CH = CH,

D.CHs — CH = CH>

Answer: C

° Watch Video Solution

o (@)

I ||
5. H-0-C-(CH,),-C—-0-H - product, At what value

of (n) given compound will not evolve CO, gas?

An—=2>5


https://dl.doubtnut.com/l/_NVmIhfQVauJy
https://dl.doubtnut.com/l/_kIf910uiu5KI
https://dl.doubtnut.com/l/_YU5gI26VCYEx

Cn=2
Dn=1
Answer: C

° Watch Video Solution

CO,H
|
55. (CH,),,, If (n = 4) then di-carboxylic acid would be known as:

|
CO.H

A. Malonic acid
B. Succinic acid
C. Adipic acid

D. Oxalic acid

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YU5gI26VCYEx
https://dl.doubtnut.com/l/_KXEhwpRALCYA

I
56. (0)

Product (A) of the above reaction is:

HO

CHy Y Com

A OM CoH
(9]
COH
B, OH Co,H
Ho% CO,H
HO CO,H
C.
Il
HO &y

HO

H
D. 0 ;


https://dl.doubtnut.com/l/_KXEhwpRALCYA
https://dl.doubtnut.com/l/_KigpWDmg1cMM

Answer: C

° Watch Video Solution

A)/
s,

O O
& ol
%“Oocq COH | ho_c—C—0—H
CO,H

cis-cyclo hexane

1,2-dicarboxylic acid
57.

Identify (A)

A.

Q0
0


https://dl.doubtnut.com/l/_KigpWDmg1cMM
https://dl.doubtnut.com/l/_Jj0Hs0PdKvak

Answer: B

o Watch Video Solution

58.

How many product will be formed when above compound undergo de-

carboxylation?

A.O

B.1

C.2

D.3

Answer: B

(N |


https://dl.doubtnut.com/l/_Jj0Hs0PdKvak
https://dl.doubtnut.com/l/_IYkv75uEiX9i

[ W Watch Video Solution

59,
H H
CH,4 CHs
(a)
H H
A CO,H
H H
CH, CH4
b)
H H
B. H

C.Both (a) and (b)

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IYkv75uEiX9i
https://dl.doubtnut.com/l/_w11djgYyM2KU
https://dl.doubtnut.com/l/_ffic1AYAnogZ

60. Products obtained in the given reactions are shown below.

CO,H CO,H
‘——)C02+x ‘ —2 5co,+y
Br
(crs) (trans)

The number of possible products for x and y are:

A1)

B.1,2

C. 2]

D. 2,2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ffic1AYAnogZ

(]
2

A lb » DMF
H2 - Br

—» (A)
(2. HO WO (83%)

wt
o eyt bromde)

Product (A) of the above reaction is:

A. Ph — NH,

B. Ph — CH, — NH,

C.Ph—CHy, — NH — CO,H

D. Ph — CH, — NH — CHO

Answer: B

o Watch Video Solution

62. Which of the following pair is Cy-epimer?

A. D-Glucose, D-Maltose


https://dl.doubtnut.com/l/_tGvCcQSujRH9
https://dl.doubtnut.com/l/_aqMK9AI3njys

B. D-Glucose,D-Mannose

C. D-Allose,D-Ribose

D. D-Glucose,D-Arabinose

Answer: B

o Watch Video Solution

63. Total number of enol possible for the compound formed during given

reaction will be (including stereoisomer):

o

||

A2
B.3
C.4

D.5

Answer: B


https://dl.doubtnut.com/l/_aqMK9AI3njys
https://dl.doubtnut.com/l/_aXocsRscj0Yt

° Watch Video Solution

64. What is the product of the following reaction?

O

O H,0%,H,0

A 4

Answer: C

[ o


https://dl.doubtnut.com/l/_aXocsRscj0Yt
https://dl.doubtnut.com/l/_XDMw1A3Kj2bk

l & Watch Video Solution

CHJ, __ D KBrO. A \

COOH (i (X) —— )

Hence the product (Y) in the above sequence of reactions, is:

” OH
O
COOH

O

CH.

Answer: C


https://dl.doubtnut.com/l/_XDMw1A3Kj2bk
https://dl.doubtnut.com/l/_049fGjIj1fZ5

° Watch Video Solution

(0]
s

0
[
C—NH, C—NH,

OH/ Br;

and
(Intramolecular
migration)

(@]

NH, 2
®) Q' and
NH, N,
© and q

Answer: B

Products are :

° Watch Video Solution



https://dl.doubtnut.com/l/_049fGjIj1fZ5
https://dl.doubtnut.com/l/_oUIa1E9Y1qd9
https://dl.doubtnut.com/l/_WCw2dIearRk9

67.
base
CH3CH.CH(OH)CH(CHs3), + CH3COCI — CH3CH,CH(OCOCH:3
In the above reaction, if the reactant alcohol is a pure R-isomer the
product would.
A. have configuration inverted at the chiral atom
B. be a racemic mixture

C. have the same configuration at the chiral atom

D. be optically inactive

Answer: C

o Watch Video Solution

68. The order of Sy1 reactivity in aqueous aceic acid solution for the

compounds

o

[
H;C-C—-CH, -CI H3C — CH; — CHs — CI (H3C),C - CI
(1) (2) (3)


https://dl.doubtnut.com/l/_WCw2dIearRk9
https://dl.doubtnut.com/l/_e0IBW30QB3c8

Al>2>3

B.1>3>2

C3>2>1

D.3>1>2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_e0IBW30QB3c8

69. Match the column (1) and ((Il). (Matrix)

o Watch Video Solution

Level 1Q1To Q 30


https://dl.doubtnut.com/l/_lEqog08kpcR0

i
COCH,CHy

KOH H,0" PCly ,_ LAH,  W/S Ly
CH3CH20ﬁ ﬁOCHzCHs - )
0 (0]

1 Product (X) is :

Product (X) is:

(a)
A.
(b)
B.
(¢)
C.
d = ‘
D.
Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_Zrxu9q2DipP2

Level 1Q 31To Q 60

CN

OOZ;%\‘I‘ Hiojff (A); Product (A) of the reaction is :
1 CN ]
QQHO\
@ ©
R
0
N
¢
B o

CO,H
CO,H

(d) O

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_vVCmpJCzxD7U

Subjective Problems

(0]
HO,C COH —— (X) mole ofCO,T;
HO,&  COH

(Y) is including stereoisomers. Value of (X+Y) will be

° View Text Solution



https://dl.doubtnut.com/l/_HpaxxVBrDCb5

